## Časopis pro pěstování matematiky

Miloš Háčik; Milan Oslej
A note on higher monotonicity properties of certain Sturm-Liouville functions. II.

Časopis pro pěstování matematiky, Vol. 107 (1982), No. 1, 30--36
Persistent URL: http://dml.cz/dmlcz/108320

## Terms of use:

© Institute of Mathematics AS CR, 1982

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://project.dml.cz

# A NOTE ON HIGHER MONOTONICITY PROPERTIES OF CERTAIN STURM-LIOUVILLE FUNCTIONS II 

Milos HÁčik and Milan Oslej, Žilina

(Received September 22, 1979)

## 1. DEFINITIONS AND NOTATION

A function $\varphi(x)$ is said to be $n$-times monotonic (or monotonic of order $n$ ) on an interval $I$ if

$$
\begin{equation*}
(-1)^{i} \varphi^{(i)}(x) \geqq 0, \quad i=0,1, \ldots, n ; \quad x \in I \tag{1.1}
\end{equation*}
$$

For such a function we write $\varphi(x) \in M_{n}(I)$ or $\varphi(x) \in M_{n}(a, b)$ provided $I$ is an open interval ( $a, b$ ). If the strict inequality holds throughout (1.1) we write $\varphi(x) \in M_{n}^{*}(I)$ or $\varphi(x) \in M_{n}^{*}(a, b)$. We say that $\varphi(x)$ is completely monotonic on $I$ if (1.1) holds for $n=\infty$.

A sequence $\left\{\mu_{k}\right\}_{k=1}^{\infty}$ denoted simply by $\left\{\mu_{k}\right\}$, is said to be $n$-times monotonic if

$$
\begin{equation*}
(-1)^{i} \Delta^{i} \mu_{k} \geqq 0, \quad i=0,1, \ldots, n ; \quad k=1,2, \ldots \tag{1.2}
\end{equation*}
$$

Here $\Delta \mu_{k}=\mu_{k+1}-\mu_{k}, \Delta^{2} \mu_{k}=\Delta\left(\Delta \mu_{k}\right)$ etc. For such a sequence we write $\left\{\mu_{k}\right\} \in M_{n}$. If the strict inequality holds throughout (1.2) we write $\left\{\mu_{k}\right\} \in M_{n}^{*} .\left\{\mu_{k}\right\}$ is called completely monotonic if (1.2) holds for $n=\infty$.

As usual, we write $[a, b)$ to denote the interval $\{x \mid a \leqq x<b\} . \varphi(x) \in C_{n}(I)$ means that $\varphi(x)$ has continuous derivatives up to and including the $n$-th order.

$$
\begin{aligned}
& D_{x}(\varphi(x)) \text { denotes the first derivative } \frac{\mathrm{d} \varphi(x)}{\mathrm{d} x} \\
& D_{x}^{n}\left(\varphi(x) \text { denotes the } n \text {-th derivative } \frac{\mathrm{d}^{n} \varphi(x)}{\mathrm{d} x^{n}}\right.
\end{aligned}
$$

## 2. PRELIMINARY REMARKS

Consider a differential equation

$$
\begin{equation*}
\left[g(x) y^{\prime}\right]^{\prime}+f(x) y=0 \tag{2.1}
\end{equation*}
$$

with $f(x)$ and $g(x)$ continuous $(g(x)>0)$ for $a<x<b$. Let $y_{1}(x), y_{2}(x)$ be linearly independent solutions of (2.1) on an open interval $(a, b)$, not necessarily $(a, \infty)$.

Let

$$
\begin{equation*}
p(x)=y_{1}^{2}(x)+y_{2}^{2}(x), \tag{2.2}
\end{equation*}
$$

and let $p^{(N)}(x)$ exist for a positive integer $N$ (of course $f(x), g(x) \in C_{N-2}(a, b)$ ). The function $y(x)$ is an arbitrary non-trivial solution of $(2.1)$ on $(a, b)$ and $\left\{x_{1}, x_{2}, \ldots\right\}$ denotes any finite or infinite increasing sequence of consecutive zeros on $(a, b)$ of a non-trivial solution $z(x)$ of (2.1). We put

$$
\begin{equation*}
w(x)=y_{1}(x) y_{2}^{\prime}(x)-y_{1}^{\prime}(x) y_{2}(x), \tag{2.3}
\end{equation*}
$$

where the solutions $y_{1}(x), y_{2}(x)$ are normalized so that $w(x)>0$. In [3]([5] §5) and [6] the results concerning higher monotonicity properties of certain sequences depending on $\left\{x_{1}, x_{2}, \ldots\right\}$ were inferred from certain hypotheses on the function $p(x)$. In this paper these results will be extended by means of Kummer transformation.

## 3. PRINCIPAL RESULTS

Theorem 3.1. Suppose that $y_{1}(x), y_{2}(x)$ are linearly independent solutions of (2.1) on $(a, b)$ and that $p(x)$ is defined by (2.2) and $w(x)$ by (2.3). Suppose that also $W(x)$ and $\psi(x)$ are functions chosen in such a way that the integrals involved in (3.1), (3.2) and (3.3) exist and that, for $n=0,1, \ldots, N$,

$$
\begin{equation*}
\left(p(x) w^{-1}(x) \frac{\mathrm{d}}{\mathrm{~d} x}\right)^{n}\left[W(x)\left(\frac{p(x)}{\psi^{2}(x)}\right)^{1+1 / 2 \lambda-\alpha}\right] \tag{3.1}
\end{equation*}
$$

has constant $\operatorname{sign} \varepsilon_{n}= \pm 1$ on $(a, b)$, where $\lambda>-1$ and $\alpha<1+\frac{1}{2} \lambda$. Then

$$
\begin{equation*}
\operatorname{sgn}\left\{\Delta^{n} \int_{x_{k}}^{x_{k+1}} W(x)\left[\frac{w(x)}{\psi^{2}(x)}\right]\left[\frac{p(x)}{\psi^{2}(x)}\right]^{-\alpha}\left|\frac{y(x)}{\psi(x)}\right|^{\lambda} \mathrm{d} x\right\}=\varepsilon_{n} \tag{3.2}
\end{equation*}
$$

$n=0,1, \ldots, N, k=1,2, \ldots$.
If for a given $n$ the expression in (3.1) is strictly positive (negative), the same is true of the corresponding differences in the conclusion of the Theorem 3.1.

Proof. Abel's formula for the Wronskian shows that $w(x)=c / g(x)$, where $c$ is a positive constant. We make the change of variable

$$
\begin{equation*}
\xi=\int_{a}^{x} \frac{\mathrm{~d} u}{g(u) \psi^{2}(u)}, \quad \psi>0 \tag{3.3}
\end{equation*}
$$

so that the equation (2.1) becomes

$$
\begin{equation*}
\frac{\mathrm{d}^{2} \eta}{\mathrm{~d} \xi^{2}}+\varphi(\xi) \eta=0 \tag{3.4}
\end{equation*}
$$

where $\eta(\xi)=y(x) / \psi(x)$ and $\varphi(\xi)=\left[\left(g \psi^{\prime}\right)^{\prime}+f \psi\right] \psi^{3} g$ (see e.g. [1]); hence we have

$$
\frac{y_{1}^{2}(x)+y_{2}^{2}(x)}{\psi^{2}(x)}=\frac{p(x)}{\psi^{2}(x)}=\eta_{1}^{2}(\xi)+\eta_{2}^{2}(\xi)=\pi(\xi) .
$$

Another change of variable $\eta(\xi)=\sqrt{ }(\pi(\xi)) u(t), \pi(\xi)=\xi^{\prime}(t)$ transforms the equation (3.4) into $u^{\prime \prime}(t)+u(t)=0\left(\right.$ see [3] p. 59). Since $\pi(\xi)=\xi^{\prime}(t)>0$ on $I$, there is a one-to-one correspondence between the zeros of $\zeta(\xi)=z(x) / \psi(x)$ and those of $v(t)=$ $=(\sqrt{ }(\pi(\xi)))^{-1} \zeta(\xi)(v(t)$ is the function corresponding to $z(x)$ after these two changes of variables).
But $v(t)=A \cos (t-b)$ where $A$ and $b$ are constants, so that the consecutive zeros $t_{k}$ of $v(t)$ are equidistant with $\Delta t_{k}=\pi ; k=1,2, \ldots$, where $t_{k}$ is the zero of $v(t)$ corresponding to $\xi_{k}$. If $\eta(\xi)=\zeta(\xi)$, then $u(t)=v(t)$. Thus

$$
\begin{gathered}
M_{k}(W, \lambda)=\int_{x_{k}}^{x_{k+1}} W(x) \frac{w(x)}{\psi^{2}(x)}\left[\frac{p(x)}{\psi^{2}(x)}\right]^{-\alpha}\left|\frac{y(x)}{\psi(x)}\right|^{\lambda} \mathrm{d} x= \\
=c \int_{\xi_{k}}^{\xi_{k+1}} W[x(\xi)][\pi(\xi)]^{-\alpha}|\eta(\xi)|^{\lambda} \mathrm{d} \xi= \\
=c \int_{t_{k}}^{t_{k+1}} W[x(\xi(t))]\left[\xi^{\prime}(t)\right]^{1+\frac{1 \lambda}{2}-\alpha}|u(t)|^{\lambda} \mathrm{d} t
\end{gathered}
$$

and as in [4, p. 1245], in virtue of $(\mathrm{d} x / \mathrm{d} \xi) \cdot(\mathrm{d} \xi / \mathrm{d} t)=g(x) p(x)=p(x) w^{-1}(x)$ we have

$$
\begin{gathered}
\Delta^{n} M_{k}=c \pi^{n} \int_{t_{k}}^{t_{k+1}} D_{t}^{n}\left\{W[x(\xi(t+\theta n \pi))]\left[\xi^{\prime}(t+\theta n \pi)\right]^{1+\frac{2}{2} \lambda-\alpha}\right\}|u(t)|^{\lambda} \mathrm{d} t, \\
0<\theta(t)<1 .
\end{gathered}
$$

Hence we have

$$
\operatorname{sgn} \Delta^{n} M_{k}=\operatorname{sgn} D_{t}^{n}\left\{W(x)\left[\frac{p(x)}{\psi^{2}(x)}\right]^{1+\frac{1}{2} \lambda-\alpha}\right\}
$$

Since

$$
\operatorname{sgn} \Delta M_{k}=\operatorname{sgn} \frac{\mathrm{d}}{\mathrm{~d} x}\left\{W(x)\left[\frac{p(x)}{\psi^{2}(x)}\right]^{1+\frac{1}{2} \lambda-\alpha}\right\} \frac{\mathrm{d} x}{\mathrm{~d} \xi} \cdot \frac{\mathrm{~d} \xi}{\mathrm{~d} t},
$$

we obtain

$$
\operatorname{sgn} \Delta^{n} M_{k}=\operatorname{sgn}\left(p(x) w^{-1}(x) \frac{\mathrm{d}}{\mathrm{~d} x}\right)^{n}\left[W(x)\left[\frac{p(x)}{\psi^{2}(x)}\right]^{1+ \pm \lambda-\alpha}\right]
$$

and the proof is complete.
32.

Corollary 3.1. Suppose that for a positive integer $N$,

$$
\begin{gather*}
(-1)^{n}\left(\frac{p(x)}{\psi^{2}(x)}\right)^{(n)}>0, \quad n=0,1,  \tag{3.5}\\
(-1)^{n}\left(\frac{p(x)}{\psi^{2}(x)}\right)^{(n)} \geqq 0, \quad n=2,3, \ldots, N, \\
W(x)>0, \quad(-1)^{n} W^{(n)}(x) \geqq 0, \quad n=1,2, \ldots, N \tag{3.6}
\end{gather*}
$$

and

$$
\begin{equation*}
(-1)^{n} D_{x}^{n}\left\{\frac{\psi^{2}(x)}{w(x)}\right\} \geqq 0, \quad n=0,1, \ldots, N \tag{3.7}
\end{equation*}
$$

Then for a fixed $\lambda>-1$ and $\alpha<1+\frac{1}{2} \lambda$, we have

$$
\begin{equation*}
(-1)^{n} \Delta^{n} \int_{x_{k}}^{x_{k+1}} W(x) \frac{w(x)}{\psi^{2}(x)}\left[\frac{p(x)}{\psi^{2}(x)}\right]^{-\alpha}\left|\frac{y(x)}{\psi(x)}\right|^{\lambda} \mathrm{d} x>0 \tag{3.8}
\end{equation*}
$$

$n=0,1, \ldots, N, k=1,2, \ldots$.
All of the above remains true if the factor $(-1)^{n}$ is deleted simultaneously from (3.5), (3.6), (3.7), (3.8).

Proof. It is a question of checking that the present hypotheses imply those in Theorem 3.1. This follows easily from [4, Lemmas 2.1 and 2.2].

Remark 1. If we choose $\psi(x) \equiv 1$ in Theorem 3.1, then we obtain [ 6 , Theorem 3.1] and the same is true for Corollary 3.1.

Example 1. Consider a differential equation

$$
\begin{equation*}
y^{\prime \prime}+\left[v^{2} x^{-2 v-2}-\frac{\left(v^{2}-1\right)}{4 x^{2}}\right] y=0 \tag{3.9}
\end{equation*}
$$

on ( $0 . \infty$ ), where $v \neq 0$. It has linearly independent solutions

$$
y_{1}(x)=x^{(v+1) / 2} \cos x^{-v}, \quad y_{2}(x)=x^{(v+1) / 2} \sin x^{-v},
$$

so we may choose $p(x)=x^{v+1}$. If we consider the quantities $M_{k}$ given by (3.2) for this equation, choosing $W(x) \equiv 1, \lambda=0, \alpha=0$ and $\psi(x)=\sqrt{ } x$ for simplicity, we find that

$$
\operatorname{sgn} \Delta^{n} M_{k}=\operatorname{sgn}\left(x^{\nu+1} \frac{\mathrm{~d}}{\mathrm{~d} x}\right)\left(x^{\nu}\right)=n!v^{n} x^{(n+1) v}, \quad n=0,1,2, \ldots,
$$

where

$$
M_{k}=\int_{x_{k}}^{x_{k+1}} \frac{1}{x} \mathrm{~d} x=\ln \frac{x_{k+1}}{x_{k}}
$$

Thus, for $v>0$ we get

$$
\stackrel{\Delta^{n}}{ }\left\{\ln \frac{x_{k+1}}{x_{k}}\right\}>0, \quad n=0,1,2, \ldots, \quad k=1,2, \ldots
$$

and for $v<0$ we obtain

$$
(-1)^{n} \Delta^{n}\left\{\ln \frac{x_{k+1}}{x_{k}}\right\}>0, \quad n=0,1,2, \ldots, \quad k=1,2, \ldots
$$

Chossing $\psi(x) \equiv 1$ we obtain $[6,2.8]$.
Theorem 3.2. Suppose that solutions $y(x)$ and $z(x)$ of (2.1) are linearly independent and that, for a positive integer $N$, there exists a pair of linearly independent solutions $y_{1}(x), y_{2}(x)$ and a function $\psi(x)$ for which

$$
\begin{gather*}
(-1)^{n}\left(\frac{p(x)}{\psi^{2}(x)}\right)^{(n)}>0, \quad n=0,1,  \tag{3.10}\\
(-1)^{n}\left(\frac{p(x)}{\psi^{2}(x)}\right)^{(n)} \geqq 0, \quad n=2,3, \ldots, N
\end{gather*}
$$

$$
\begin{equation*}
(-1)^{n} D_{x}^{n}\left\{\frac{\psi^{2}(x)}{w(x)}\right\} \geqq 0, \quad n=0,1,2, \ldots, N \tag{3.11}
\end{equation*}
$$

and for $a<x<b$

$$
\begin{equation*}
W(x)>0, \quad(-1)^{n} W^{(n)}(x) \geqq 0, \quad n=1,2, \ldots, N \tag{3.12}
\end{equation*}
$$

Then for any $\alpha>0$

$$
(-1)^{n} \Delta^{n} W\left(x_{k}\right)\left|\frac{y\left(x_{k}\right)}{\psi\left(x_{k}\right)}\right|^{\alpha}>0, \quad \begin{array}{ll} 
& n=0,1,2, \ldots, N  \tag{3.13}\\
. & k=1,2, \ldots
\end{array}
$$

and

$$
(-1)^{n} \Delta^{n} W\left(x_{k}\right)\left|\frac{w\left(x_{k}\right)}{\psi\left(x_{k}\right) z^{\prime}\left(x_{k}\right)}\right|^{\alpha}>0, \quad \begin{align*}
& n=0,1,2, \ldots, N,  \tag{3.14}\\
& k=1,2, \ldots
\end{align*}
$$

All of the above remains true if the factor $(-1)^{n}$ is deleted simultaneously from (3.10), (3.11), (3.12) and (3.13).

Remark 2. [5, Theorem 5.2] is obtained from Theorem 3.2 by choosing $\psi(x) \equiv 1$.
Proof. Making the change of variable (3.3) we have

$$
W(x)\left|\frac{y(x)}{\psi(x)}\right|^{\alpha}=V(\xi)|\eta(\xi)|^{\alpha}
$$

where $V(\xi)=W[x(\xi)]$ is an $N$-times monotonic function of $\xi$. The differential equation now has the form (3.4). Another change of variable $\xi^{\prime}(t)=\pi(\xi), \eta(\xi)=$
$=\sqrt{ }(\pi(\xi)) u(t)$ reduces it to the form $u^{\prime \prime}(t)+u(t)=0$. Thus we have

$$
\begin{gathered}
W(x)\left|\frac{y(x)}{\psi(x)}\right|^{\alpha}=V(\xi)|\eta(\xi)|^{\alpha}=V(\xi)[\pi(\xi)]^{\alpha / 2}|u(t+B)|^{\alpha}, \\
W\left(x_{k}\right)\left|\frac{y\left(x_{k}\right)}{\psi\left(x_{k}\right)}\right|^{\alpha}=C V\left[\dot{\xi}\left(t_{k}\right)\right]\left\{\pi\left[\xi\left(t_{k}\right)\right]\right\}^{\alpha / 2}
\end{gathered}
$$

where $C \in\langle 0,1\rangle$ is a constant independent of $k$. As in the proof of Theorem 3.1 we have $\pi(\xi)>0, \pi^{\prime}(\xi)<0, \pi(\xi) \in M_{N}(\xi(a), \xi(b)), V(\xi)>0, V(\xi) \in M_{N}(\xi(a), \xi(b))$. Hence if we write $q(\xi)=V(\xi)[\pi(\xi)]^{\alpha / 2}$ we get using [5, Lemma 2.2]

$$
\begin{equation*}
(-1)^{n} D_{t}^{n}[q(\xi)]>0, \quad n=0,1,2, \ldots, N . \tag{3.15}
\end{equation*}
$$

We have for $n=0,1,2, \ldots, N$

$$
(-1)^{n} \Delta^{n} W\left(x_{k}\right)\left|\frac{y\left(x_{k}\right)}{\psi\left(x_{k}\right)}\right|^{\alpha}=(-1)^{n} C D_{t}^{n}\left\{q\left[\xi\left(t_{k}+\theta n \pi\right)\right]\right\}, \quad 0<\theta(t)<1
$$

by using the mean value theorem for higher order derivatives and differences, see [ $3, \mathrm{p} .60$ ]. Hence in view of (3.15) we get the desired (3.13).
The result (3.14) easily follows from the Wronskian of $y(x)$ and $z(x)(w(x)=$ $\left.=y^{\prime}(x) z(x)-y(x) z^{\prime}(x)\right)$ by dividing it by $\psi(x)$ and substituting $x=x_{k}$, so that $z\left(x_{k}\right)=0$ and $y\left(x_{k}\right) / \psi\left(x_{k}\right)=w\left(x_{k}\right) /\left(\psi\left(x_{k}\right) z^{\prime}\left(x_{k}\right)\right)$. The Wronskian of $y(x), z(x)$ is a constant non-zero multiple of $w(x)$.

The last sentence in the statement of Theorem 3.2 follows by making obvious changes in the above proof.

Example 2. Consider a differential equation

$$
\begin{equation*}
\left(\frac{1}{x^{2 a-1}} y^{\prime}\right)^{\prime}+\frac{a^{2}+1}{x^{2 a+1}} y=0 \tag{3.16}
\end{equation*}
$$

which has linearly independent solutions

$$
y_{1}=x^{a} \cos \ln x, \quad y_{2}=x^{a} \sin \ln x
$$

Now $p(x)=x^{2 a}$. If we choose $\psi(x)=x^{a-1 / 2}$, then $g \psi^{2}=1$ and $p(x) / \psi^{2}(x)=x$. Thus, the hypotheses of Theorem 3.2 are fulfilled with $(-1)^{n}$ deleted for any $a \in$ $\in(-\infty, \infty)$.

Corollary 3.2. Under the hypotheses of Theorem 3.2 we have

$$
(-1)^{n} \Delta^{n} \log \left|\frac{y\left(x_{k}\right)}{\psi\left(x_{k}\right)}\right| \geqq 0, \quad \begin{array}{ll}
n=1,2, \ldots, N  \tag{3.17}\\
& k=1,2, \ldots
\end{array}
$$

and

$$
(-1)^{n} \Delta^{n} \log \left|\frac{w\left(x_{k}\right)}{\psi\left(x_{k}\right) z^{\prime}\left(x_{k}\right)}\right| \geqq 0, \quad \begin{align*}
& n=1,2, \ldots, N,  \tag{3.18}\\
& k
\end{align*}
$$

These results remain true if the factor $(-1)^{n}$ is deleted simultaneously from (3.10), (3.11), (3.12), (3.17) and (3.18).

Proof. From Theorem 3.2 we have for each $\alpha>0$

$$
\begin{array}{ll}
(-1)^{n} \Delta^{n} \frac{\left[y\left(x_{k}\right) / \psi\left(x_{k}\right)\right]-1}{\alpha}>0, & n=1,2, \ldots, N, \\
k=1,2, \ldots .
\end{array}
$$

Taking the limit as $\alpha \rightarrow 0^{+}$and using the L'Hospital rule, we get (3.17). Similarly, (3.18) follows from (3.14).

Corollary 3.3. If the hypotheses of Theorem 3.2 hold and if, in addition,

$$
\begin{equation*}
(-1)^{n} D_{x}^{n}\left\{[W(x)]^{\alpha} \geqq 0, \quad a<x<b, \quad n=1,2, \ldots, N\right. \tag{3.19}
\end{equation*}
$$

for each $\alpha>0$, then

$$
(-1)^{n} \Delta^{n} \log \left\{W\left(x_{k}\right)\left|\frac{y\left(x_{k}\right)}{\psi\left(x_{k}\right)}\right|\right\} \geqq \geqq, \quad \begin{align*}
& n=1,2, \ldots, N  \tag{3.20}\\
& k=1,2, \ldots
\end{align*}
$$

and

$$
(-1)^{n} \Delta^{n} \log \left\{\frac{W\left(x_{k}\right) w\left(x_{k}\right)}{\psi\left(x_{k}\right) z^{\prime}\left(x_{k}\right)}\right\} \geqq 0, \quad \begin{align*}
& n=1,2, \ldots, N,  \tag{3.21}\\
& k=1,2, \ldots
\end{align*}
$$

The results remain true if the factor $(-1)^{n}$ is deleted simultaneously from (3.10), (3.11), (3.12), (3.19), (3.20) and (3.21).

This corollary may be proved in the same way as Corollary 3.2. As an example we introduce the solutions of the differential equations (3.9) and (3.16) from Examples 1 and 2, which fulfil the hypotheses of Theorem 3.2.

## References

[1] M. Háčik: A Note on Higher Monotonicity Properties of Certain Sturm-Liouville Functions. Archivum Mathematicum, Brno, XVI, (1980), 153-160.
[2] L. Lorch, L. Moser: A Remark on Completely Monotonic Sequences with an Application to Summability. Canad. Math. Bull., 6 (1963), 171-173.
[3] L. Lorch, P. Szego: Higher Monotonicity Properties of Certain Sturm-Liouville Functions. Acta Math. 109 (1963), 55-73.
[4] L. Lorch, M. E. Muldoon, P. Szego: Higher Monotonicity Properties of Certain Sturm-Louville Functions III. Canad. Journ. of Maths., 22 (1970), 1238-1265.
[5] L. Lorch, M. E. Muldoon, P. Szego: Higher Monotonicity Properties of Certain SturmLiouville Functions IV. Canad. Journ. of Maths., 24 (1972), 349-368.
[6] M. E. Muldoon: Higher Monotonicity Properties of Certain Sturm-Liouville Functions V. Proceedings of Royal Society of Edinburgh, 77A (1977), 23-37.

Authors' addresses: 01088 Žilina, ul. Marxa-Engelsa 15 (Katedra matematiky Strojníckej a elektrotechnickej fakulty Vysokej školy dopravy a spojov).

